
 

Ejemplo de error absoluto y relativo. 

 

NOMBRE APROXIMACIÓN ERROR ABSOLUTO ERROR RELATIVO ERROR RELATIVO 
% 

12,6488 12,65 
(Aprox.-Nombre)= 
0.0012 

(Ea. /Nombre)= 
0,0000949 

(Er. X 100)= 
0,00949 
 

124,55 124 
(Aprox.-Nombre)= 
0,55 

(Ea/Nombre)= 
0,0044158 

(Er. X 100)= 
0,94158 

31,45 31,4 
(Aprox.-Nombre)= 
0,05 

(Ea/Nombre)= 
0,0015898 

(Er. X 100)= 
0,15898 

-31,27347 -31,27 
(Aprox.-Nombre)= 
0,00347 

(Ea/Nombre)= 
0,0001109 

(Er. X 100)= 
0,01109 

0,6666 0,07 
(Aprox.-Nombre)= 
0,0034 

(Ea/Nombre)= 
0,0051005 

(Er. X 100)= 
0,51005 

-4,736576 -4,737 
(Aprox.-Nombre)= 
0,00043  

(Ea/Nombre)= 
0,0000907 

(Er. X 100)= 
0,00907 


